R A
g

29— AR [AHFE)

e & I i

%—Fﬂﬁ"’%.ﬂﬁ E%Fﬂﬁ% [ 40%' 100,"\'—:-'\]

VY =
t =

1 HERBBROERNDDIET, COMEBEMFOFREZRTENIFEFEA,

2 oL, b—YHD F I,

3 HEBAICHIRIAE, =Y T i TNk F 280 THEEELIC
MoERLE WV,

4 FEIIITXTHEBOERICULIZN - T, BEHKICEEALZEZY,
AR TR, C OREMT b
KvFFoTCEHRETEHEES
ARSI




F—R RO1~40HEAELLIL,
1 9+3%X(—2)

[@—24 @ -3 Q@ 3 @ 15 @24]

2 6ab®+3ab

[@ 2a 2 2b @ 2ab @ 2ab? ® 2a2b3]

x—y x+t2y
3 4

3

—x—10y —xr—2y r—2y r+2y
® 12 Y 12 Y 12 @ 12

r—10y

® 12

4 V501827 V8

D V63 @ 71/2+743 @ 3Y2+2 @ 34243
® 3y2+43

(BRIANTBRERKICEALLZSY)
[ 1 N



BT KD 1~3DHVICEZLE W,
1 ROFEXZEZMFEIT I,

3r+1y=9

@ oxr—2y=4

D xz=—-1, y=3 @ x=2 y=—-3 @ x=2 y=3
r=3 y=—1 ©® z=38 y=2

S

(2) x24+22x—5=0

@I:—Ziﬁs 2 2446 i
—= .

@ r=1=v6 B r=—1+2/3

2 HOXD XS, BEEELIZAATHIC
BELTWws, oMot 20&d 5 & %

LTDORESERDETE O, Ko
)
A

[@ 55° @ 110° @ 120° @ 130° ® 135°]

3 3WMDEEEA, B, CEEKRICET 5 & &, IROMEREZRDISI W,
(D 3HE bFR L BHHER,

Oy 25 95 @5 6 5

(2) D Ed 1 MR E 3 B HEH,

1 2 3 5 7
O, @05 @57 @3 6 |
(BRI ANTHBREREICEEALLEZL)

_2_



B=R Ao XS, BEUE y= 2 FITHA,
yl LIl B d 5, £/, BEHIEABE il
DR ZECET B, FADT EIEIZ2 TH D,
MBoyEiEIZI8 THD, TOEE, RO

1 ~4 OFWICEZ 1T X W\,

1 FHADYHBEEZRKDISE W\,

D2 @4 @6 @71 638

2 EEBEABORARKDIT X W,

D y=—21r+6 @ y=—2r+8 ® Y=—zr+6

@ y=—x+8 ® vy=292r+8

3 HCOx FEEARDIT S W,

[@4 @ 6 ® 8 @ 10 @12]

4 AOCADHMEZRDIT I,

[@ 8 @ 10 @ 16 @ 20 ® 32]

(BR>IANTBRERKICEALLZEY)
[ 8 N



EBOE 4oXDOXESHE 1HAOEID 4 endDIE A
Ef&E L, fhoddE XA 6 cnd 1F PU A §E A
B, KAOWAHFOLEHAHE T 5 & X,

RD 1~ 4 DRIWVICEZ 15 X Wy,
C

A/

A B

1 AHOEIZRDE I,

[@ 2\/30111 @ 3ecm ©) 3\F2cm @ 4 cm ® 4x/§cm]

2 OHODOEZAZRDIT I U,

[@ 4 cm 2 Zx/gcm @ 5cm @ Zﬁcm ® 6cm]

3 AOABOHIEZRD 7S X W\,

[@ 45t @ 8y2ct @ 10 @ 20t @ © 2401112]

4 COMUHHEDIRTEZ KD 1T X W,

324 7 80
[@ 5/701113 @ ?cm3 @ 1647 et @ 3247t ® 80011?]

(BRI ANTBRERKICEALGZSY)
[ 4 N



EAM

A (kg) FEEL (O FHXEERL
LIk R
35 ~ 40 @) 0.04
40 ~ 45 2 0.08
45 ~ 50 8 0.32
o0 ~ 55 7 €P)
05 ~ 60 4 0.16
60 ~ 65 3 0.12
il 29 1.00

1 (7) IThHTEE A HAERDILE 0,

[@1 @ 2 ® 3 @ 4 @5]

2 (1) ITHTRFELIHAERDITE W,

[@ 0.20 @ 0.22 @ 0.24 @ 0.26

3 AKENS0kgLl EOAEFERII AR D%

[@ 529% @ 54% ® 56% @ 58%

4 (FEOHFIYHEEE EDREHIZA > TV S,

@  40kgPl F45kg A @ 45kgll F50kg At
@ 50kgll 55kg A @ 55kgl) 60kg A
® 60kgll 65kgAims

NoEKEIH B T XAOEFEDRELZRNIFEREE LDHICEDTD 5,

‘(kOD 1 —~ 4 @Fn‘ﬂb&C%Z'-fiéh\o

® 0.28 ]

® 60%]

(BR>IANTBRERKICEALLZEY)

_5_









